British Journal of Applied Science \& Technology
18(3): 1-8, 2016; Article no.BJAST. 29916
ISSN: 2231-0843, NLM ID: 101664541

# Useful Formulas for One-dimensional Differential Transform 

Eman Anower Elmabrouk ${ }^{1}$ and Fawzi Abdelwahid ${ }^{2^{*}}$<br>${ }^{1}$ Department of Mathematics, Faculty of Education, University of Benghazi, Benghazi, Libya.<br>${ }^{2}$ Department of Mathematics, Faculty of Science, University of Benghazi,<br>Benghazi, Libya.

## Authors' contributions

This work was carried out in collaboration between both authors. Both authors read and approved the final manuscript.

## Article Information

DOI: 10.9734/BJAST/2016/29916
Editor(s):
(1) Qing-Wen Wang, Department of Mathematics, Shanghai University, P.R. China.

## Reviewers:

(1) Mina B. Abd-el-Malek, The American University in Cairo, Egypt.
(2) W. Obeng-Denteh, Kwame Nkrumah University of Science and Technology, Ghana.
(3) Do Tan Si, Vrije University Brussel, Belgium.

Complete Peer review History: http://www.sciencedomain.org/review-history/17353

Received $3^{\text {rd }}$ October 2016
Accepted $8^{\text {th }}$ November 2016
Published 26 ${ }^{\text {th }}$ December 2016


#### Abstract

In this work, we introduced new useful formulas for one-dimensional differential transform and applied the differential transform method to selected linear ordinary differential equations. This study showed that this method is powerful and efficient in finding series solutions for linear differential equations and capable of reducing the size of calculations comparing with other methods.


Keywords: Differential transform; Taylor series method; differential equations.

## 1. INTRODUCTION

The idea of differential transform presented by G. E. Pukhov [1] in 1982 and the concept of
differential transform proposed first by Zhou [2] in 1986 when applied to solve linear and nonlinear initial value problems in electric circuit analysis. The (Pukhov-Zhou) differential transform method

[^0]presented as a new method based on Taylor series [3-14] and consider as a semi-analytical technique uses the Taylor series to construct the solutions of differential equations in the form of a power series. This method represents an iterative procedure for obtaining analytic series solutions of differential equations and useful for obtaining exact and approximate solutions of linear ordinary differential equations [4-6] and system of linear ordinary differential equations [89]. The main aims in this work are to introduce new useful algorithms for one-dimensional differential transform and applied the differential transform method to selected linear ordinary differential equations.

## 2. THE ONE-DIMENSIONAL DIFFERENTIAL TRANSFORM

In this section, we introduce the concept of onedimensional differential transform and review some basic fundamental theorems [4-13]. To do that, we assume that $f(x)$ be a $C^{\infty}(I)$ function in an open interval of $R$, and $x_{0}$ be any point of $I$. Then the Taylor series of $f(x)$ about $x_{0}$ can be represented by

$$
\begin{equation*}
f(x)=\sum_{k=0}^{\infty}\left[\frac{f^{(k)}(x)}{k!}\right]_{x=0_{0}}\left(x-x_{0}\right)^{k} \tag{2.1}
\end{equation*}
$$

Note that, throughout this work, we assume that $f(x)$ is an analytic function at every point of $I$.

Definition: Let $f(x)$ be an analytic function about $x_{0}$, then the $k^{\text {th }}$ order differential transform of $f(x)$ is defined as

$$
\begin{equation*}
D_{T}\{f(x)\}:=\left[\frac{f^{(k)}(x)}{k!}\right]_{x=x_{0}} \tag{2.2}
\end{equation*}
$$

In definition (2.1), $D_{T}\{f(x)\}$ represents the one-dimensional differential transform of $f(x)$ about $x_{0}$ and it usually denoted by $F(k)$ and throughout our work, we will take $x_{0}=0$, which reduces the definition (2.1) to

$$
\begin{equation*}
D_{T}\{f(x)\}=F(k):=\frac{f^{(k)}(0)}{k!} \tag{2.3}
\end{equation*}
$$

Note that, the inverse differential transform of $F(k)$ denoted by $D_{T}^{-1}\{F(k)\}$ is defined as

$$
\begin{equation*}
D_{T}^{-1}\{F(k)\}=f(x):=\sum_{k=0}^{\infty} F(k) x^{k} \tag{2.4}
\end{equation*}
$$

For example $D_{r}\left\{e^{\alpha x}\right\}=\alpha^{k} / k!, D_{r}\{\cos \alpha \alpha\}=\left(\alpha^{k} / k!\right) \cos (k \pi / 2)$, respectively, where, $\alpha$ is a constant.

Theorem (1): Let $f(x)$ and $g(x)$ be analytic functions, with differential transforms $F(k)$ and $G(k)$ respectively, then

$$
\begin{equation*}
D_{T}\{\alpha f(x)+\beta g(x)\}=\alpha D_{T}\{f(x)\}+\beta D_{T}\{g(x)\}, \tag{2.5}
\end{equation*}
$$

$$
\begin{equation*}
D_{T}^{-1}\{\alpha F(k)+\beta G(k)\}=\alpha D_{T}^{-1}\{F(k)\}+\beta D_{T}^{-1}\{G(k)\}, \tag{2.6}
\end{equation*}
$$

where $\alpha$ and $\beta$ are constants. The proof of the linearity property follows immediately from the definitions (1) and (2).

Theorem (2): Let $f(x)$ be an analytic function, with $D_{T}\{f(x)\}=F(k)$, then

$$
\begin{equation*}
D_{T}\left\{\frac{d^{n} f(x)}{d x^{n}}\right\}=\frac{(k+n)!}{k!} F(k+n) \tag{2.7}
\end{equation*}
$$

In fact,

$$
\begin{align*}
D_{T}\left\{\frac{d^{n} f(x)}{d x^{n}}\right\} & =D_{T}\left\{\sum_{k=0}^{\infty} \frac{f^{(k+n)}(0)}{k!} x^{k}\right\}=D_{T}\left\{\sum_{k=0}^{\infty} \frac{(k+n)!}{k!} \frac{f^{(k+n)}(0)}{(k+n)!} x^{k}\right\} \\
& =\frac{(k+n)!}{k!} \frac{f^{(k+n)}(0)}{(k+n)!}=\frac{(k+n)!}{k!} F(k+n) . \tag{2.8}
\end{align*}
$$

Theorem (3): Let $F(k)$ be the differential transform of $f(x)=x^{m}$, then $F(k)=\delta_{k m}$, where, $\boldsymbol{\delta}_{k m}$ is the Kronecker delta. The proof of this theorem follows immediately from identity $x^{m} \equiv \sum_{k=0}^{\infty} \delta_{k m} x^{k}$.

Theorem (4): Let $f(x)$ and $g(x)$ be analytic functions and

$$
\begin{equation*}
f(x)=\int_{0}^{x} g(t) d t \tag{2.9}
\end{equation*}
$$

then the differential transform of the function $f(x)$ is given by

$$
\begin{equation*}
D_{T}\{f(x)\}=\frac{G(k-1)}{k} \tag{2.10}
\end{equation*}
$$

where $G(k)$ is the differential transform of $f(x)$. Because $f^{\prime}(x)=g(x)$, we get from (2.8)
$\frac{g^{(k)}(0)}{k!}=\frac{(k+1)!}{k!} \frac{f^{(k+1)}(0)}{(k+1)!}=(k+1) \frac{f^{(k+1)}(0)}{(k+1)!}$.
This can be written in the form
$\frac{f^{(k)}(0)}{k!}=\frac{1}{k} \frac{g^{(k-1)}(0)}{(k-1)!}$,
which his yields the formula (2.10).
Theorem (5): Let $f_{1}(x)$ and $f_{2}(x)$ be analytic functions, with $f(x)=f_{1}(x) \cdot f_{2}(x)$, then

$$
\begin{equation*}
D_{T}\{f(x)\}=\sum_{n=0}^{k} F_{1}(n) F_{2}(k-n) \tag{2.11}
\end{equation*}
$$

where $F_{1}(k)$ and $F_{2}(k)$ are the differential transforms of the functions $f_{1}(x)$ and $f_{2}(x)$ respectively. To prove (2.11), we first write

$$
\begin{aligned}
f_{1}(x) f_{2}(x) & =\sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{f_{1}^{(n)}(0)}{n!} \frac{f_{2}^{(m)}(0)}{m!} \frac{x^{n+m}}{n!m!}=\sum_{k=0}^{\infty} \sum_{n=0}^{k} \frac{f_{1}^{(n)}(0)}{n!} \frac{f_{2}^{(k-n)}(0)}{(k-n)!} \frac{x^{k}}{n!(k-n)!} \\
& =\sum_{k=0}^{\infty} \sum_{n=0}^{k} \frac{f_{1}^{(n)}(0)}{n!} \frac{f_{2}^{(k-n)}(0)}{(k-n)!} \frac{x^{n} x^{k-n}}{n!(k-n)!}
\end{aligned}
$$

Next, applying the differential transform on both sides of the above equation yields the formula (2.11).

## 3. NEW FORMULAS

In this section, we introduce new basic formulas for the one-dimensional differential transform.
Theorem (6): Let $f(x)$, be an analytic function, with $D_{T}\{f(x)\}=F(k)$, then

$$
\begin{equation*}
D_{T}\left\{x^{m} f^{(n)}(x)\right\}=\sum_{i=0}^{k} \delta_{i m} \frac{(k+n-i)!}{(k-i)!} F(k+n-i) \tag{3.1}
\end{equation*}
$$

To prove the formula (3.1), we make use of (8) and $D_{T}\left\{x^{m}\right\}=\delta_{k m}$. This enables us to write

$$
\begin{equation*}
F_{1}(k)=D_{T}\left\{x^{m}\right\}=\delta_{k n} \quad F_{2}(k)=D_{T}\left\{f^{(n)}(x)\right\}=\frac{(k+n)!}{k!} F(k+n) \tag{3.2}
\end{equation*}
$$

Then, the formula (2.11) leads to

$$
\begin{equation*}
D_{T}\left\{x^{m} f^{(n)}(x)\right\}=\sum_{i=0}^{k} F_{1}(i) F_{2}(k-i) \tag{3.3}
\end{equation*}
$$

Finally, if we substitute (3.2) into (3.3), we can establish the formula (3.1). Note that, for $m=0$, the formula (3.1) reduces to the formula (2.7).

Corollary (1): Let $f(x)$, be an analytic function, with $D_{T}\{f(x)\}=F(k)$, then

$$
\begin{equation*}
D_{T}\left\{x^{n} f^{(n)}(x)\right\}=\prod_{i=0}^{n-1}(k-i) F(k) . \tag{3.4}
\end{equation*}
$$

Note that, making use of (3.1) and the identity

$$
\begin{equation*}
k!=\frac{(k-n+1)!}{(k-n+1)(k-n)(k-n-1)(k-n-2) \ldots .(k-1)}, \tag{3.5}
\end{equation*}
$$

we can easily establish the formula (3.4).
Corollary (2): Let $f(x)$ be an analytic function, with $D_{T}\{f(x)\}=F(k)$, then
$D_{T}\left\{e^{\alpha x} f^{(n)}(x)\right\}=\sum_{i=0}^{k} \frac{\alpha^{i}}{i!} \frac{(k+n-i)!}{(k-i)!} F(k+n-i)$

To prove (3.6), we make use of (2.2) and (2.7) to write

$$
\begin{equation*}
F_{1}(k)=D_{T}\left\{e^{\alpha t}\right\}=\frac{\alpha^{k}}{k!}, \quad F_{2}(k)=D_{T}\left\{f^{(n)}(x)\right\}=\frac{(k+n)!}{k!} F(k+n) \tag{3.7}
\end{equation*}
$$

Then, the formula (2.11) leads to

$$
\begin{equation*}
D_{T}\left\{e^{\alpha x} f^{(n)}\right\}=\sum_{i=0}^{k} F_{1}(i) F_{2}(k-i)=\sum_{i=0}^{k} \frac{\alpha}{i!} \frac{(k+n-i)!}{(k-i)!} F(k+n-i) \tag{3.8}
\end{equation*}
$$

Theorem (7): Let $f(x)$ be an analytic function, with $D_{T}\{f(x)\}=F(k)$, then

$$
\begin{equation*}
D_{T}\left\{\left(x f^{(n)}(x)\right)^{\prime}\right\}=\frac{(k+1)(k+n)!}{k!} F(k+n) \tag{3.9}
\end{equation*}
$$

We can establish the proof of the formula (3.8) by using (2.4), (6) and (2.11) as following

$$
\begin{aligned}
D_{T}\left\{\left(x f^{(n)}(x)\right)^{\prime}\right\} & =D_{T}\left\{x f^{(n+1)}(x)\right\}+D_{T}\left\{f^{(n)}(x)\right\}=\frac{(k+n)!}{(k-1)!} F(k+n)+\frac{(k+n)!}{k!} F(k+n) \\
& =\frac{(k+n)!}{(k-1)!}\left[1+\frac{1}{k}\right] F(k+n)=\frac{(k+1)(k+n)!}{k!} F(k+n) .
\end{aligned}
$$

Note that, for $n=1$ the formula (3.9), reduce to the formula

$$
\begin{equation*}
D_{T}\left\{\left(x f^{\prime}(x)\right)^{\prime}\right\}=(k+1)^{2} F(k+1) \tag{3.10}
\end{equation*}
$$

Theorem (8): Let $f(x)$ be an analytic function with $D_{T}\{f(x)\}=F(k)$, then

$$
\begin{equation*}
D_{T}\left\{\left(x^{m} f^{(n)}(x)\right)^{\prime}\right\}=\frac{(k+1)(k+n-m+1)!}{(k-m+1)!} F(k+n-m+1) \tag{3.11}
\end{equation*}
$$

We can establish the proof of the formula (3.11) by using (2.5) and (3.1) as

$$
\begin{aligned}
D_{T}\left\{\left(x^{m} f^{(n)}(x)\right)^{\prime}\right\} & =D_{T}\left\{x^{m} f^{(n+1)}(x)\right\}+m D_{T}\left\{x^{m-1} f^{(n)}(x)\right\} \\
& =\frac{(k+n+1-m)!}{(k-m)!} F(k+n+1-m)+m \frac{(k+n-m+1)!}{(k-m+1)!} F(k+n-m+1)
\end{aligned}
$$

Now by setting $h=m-1$, we can write

$$
\begin{aligned}
D_{T}\left\{\left(x^{m} f^{(n)}(x)\right)^{\prime}\right\} & =\frac{(k+n-h)!}{(k-h-1)!} F(k+n-h)+(h+1) \frac{(k+n-h)!}{(k-h)!} F(k+n-h) \\
& =\frac{(k+n-h)!}{(k-h-1)!} F(k+n-h)+\frac{(h+1)}{(k-h)} \frac{(k+n-h)!}{(k-h-1)!} F(k+n-h) \\
& =\left(1+\frac{(h+1)}{(k-h)}\right) \frac{(k+n-h)!}{(k-h-1)!} F(k+n-h) \\
& =\left(\frac{(k+1)}{(k-h)}\right) \frac{(k+n-h)!}{(k-h-1)!} F(k+n-h)=\frac{(k+1)(k+n-h)!}{(k-h)!} F(k+n-h) .
\end{aligned}
$$

This yields the formula (3.12).

## 4. NUMERICAL EXAMPLES

In this section, we apply the differential transform method to selected linear differential equations and compare our results with the results obtained by the Taylor series method.

## Example (1)

Consider the initial value problem

$$
\begin{align*}
& y^{\prime \prime}-2 x y^{\prime}+2 n y=0,  \tag{4.1}\\
& y(0)=c_{0}, \quad y^{\prime}(0)=c_{1}, \tag{4.2}
\end{align*}
$$

The differential equation (4.1) is known as Hermite equation, where $n$ is usually a non-negative integer. To solve the initial value problem (4.1-2), we apply the differential transform to both sides of (4.1). This gives

$$
\begin{equation*}
D_{T}\left\{y^{\prime \prime}\right\}-2 D_{T}\left\{x y^{\prime}\right\}+2 n D_{T}\{y\}=0 \tag{4.3}
\end{equation*}
$$

Next, making use of the formulas (2.7) and (3.1) enables us to find

$$
\begin{equation*}
(k+1)(k+2) Y(k+2)-2 k Y(k)+2 n Y(k)=0 . \tag{4.4}
\end{equation*}
$$

This leads to the iteration formula

$$
\begin{equation*}
Y(0)=c_{0}, \quad Y(1)=c_{1}, \quad Y(k+2)=\frac{2(k-n)}{(k+1)(k+2)} Y(k), k=0,1,2 \ldots \tag{4.5}
\end{equation*}
$$

Now, the iteration formula (4.5) gives

$$
\begin{align*}
& Y(2)=\frac{-2 n}{2!} c_{0}, Y(3)=\frac{-2(n-1)}{3!} c_{1}, \quad Y(4)=\frac{2^{2} n(n-2)}{4!} c_{0} \\
& Y(5)=\frac{2^{2}(n-1)(n-3)}{5!} c_{1}, \quad Y(6)=\frac{-2^{3} n(n-2)(n-4)}{6!} c_{0} \tag{4.6}
\end{align*}
$$

Therefore, this leads to the series solution

$$
\begin{equation*}
y(x)=c_{0}\left(1-\frac{2 n}{2!} x^{2}+\frac{2^{2} n(n-2)}{4!} x^{4}-\frac{2^{3} n(n-2)(n-4)}{6!} x^{6} \ldots\right)+c_{1}\left(x-\frac{2(n-1)}{3!} x^{3}+\frac{2^{2}(n-1)(n-3)}{5!} x^{5}+\ldots\right) \tag{4.7}
\end{equation*}
$$

This is the Hermite polynomial given in ref. [15].

## Example (2)

Consider the initial value problem

$$
\begin{align*}
& \left(1-x^{2}\right) \frac{d^{2} y}{d x^{2}}-2 x \frac{d y}{d x}+n(n+1) y=0  \tag{4.8}\\
& y(0)=c_{0}, \quad y^{\prime}(0)=c_{1} \tag{4.9}
\end{align*}
$$

The self-adjoint equation (4.8) is known as the Legendre equation, where, $c_{0}$ and $c_{1}$ are constant and $n$ is an integer. To solve the initial value problem (4.8-9), we apply the differential transform to both sides of (4.8). This gives

$$
\begin{equation*}
D_{T}\left\{y^{\prime \prime}\right\}-D_{T}\left\{\left(x^{2} y^{\prime}\right)^{\prime}\right\}+D_{T}\{n(n+1) y\}=0 . \tag{4.10}
\end{equation*}
$$

Next, making use of the formulas (2.7) and (3.11) enables us to find

$$
\begin{equation*}
(k+1)(k+2) Y(k+2)-k(k+1) Y(k)+n(n+1) Y(k)=0, \tag{4.11}
\end{equation*}
$$

This leads to the iteration formula

$$
\begin{align*}
& Y(0)=c_{0}, \quad Y(1)=c_{1} \\
& Y(k+2)=\frac{1}{(k+1)(k+2)}[k(k+1)-n(n+1)] Y(k), \quad k=0,1,2 \ldots \tag{4.12}
\end{align*}
$$

Now, the iteration formula (4.12) gives

$$
\begin{align*}
& Y(2)=-\frac{n(n+1)}{2!} c_{0}, Y(3)=-\frac{(n-1)(n+2)}{3!} c_{1}, \quad Y(4)=\frac{(n-2) n(n+1)(n+3)}{4!} c_{0} \\
& Y(5)=\frac{(n-3)(n-1)(n+2)(n+4)}{5!} c_{1}, Y(6)=-\frac{(n-4)(n-2) n(n+1)(n+3)(n+5)}{6!} c_{0}, \\
& Y(7)=-\frac{(n-5)(n-3)(n-1)(n+2)(n+4)(n+6)}{7!} c_{1}, \ldots . \tag{4.13}
\end{align*}
$$

Therefore, this leads to the series solution

$$
\begin{align*}
& y(t)=c_{0}\left[1-\frac{n(n+1)}{2!} x^{2}+\frac{(n-2) n(n+1)(n+3)}{4!} x^{4}-\frac{(n-4)(n-2) n(n+1)(n+3)(n+5)}{6!} x^{6}+\ldots\right]+ \\
& c_{1}\left[x-\frac{(n-1)(n+2)}{3!} x^{3}+\frac{(n-3)(n-1)(n+2)(n+4)}{5!} x^{5}-\right. \\
& \left.\frac{(n-5)(n-3)(n-1)(n+2)(n+4)(n+6)}{7!} x^{7}+\ldots \ldots\right] \tag{4.14}
\end{align*}
$$

This result is identical to the result obtained by the Taylor series procedure applied in ref. [16].

## Example (3)

Consider the initial value problem

$$
\begin{align*}
& y^{\prime}-2 x y=0  \tag{4.15}\\
& y(0)=c_{0} \tag{4.16}
\end{align*}
$$

To solve the initial value problem (4.15-16), we make use of the formulas (7), (11) and (13). This gives

$$
\begin{equation*}
(k+1) Y(k+1)-2 \sum_{i=0}^{k} \delta_{i 1} Y(k-i)=0 \tag{4.17}
\end{equation*}
$$

Now, we can write the iteration formula

$$
\begin{equation*}
Y(0)=c_{0}, \quad Y(k+1)=\frac{2}{k+1} \sum_{i=0}^{k} \delta_{i 1} Y(k-i), \quad k=0,1,2, \ldots \tag{4.18}
\end{equation*}
$$

The iteration formula (4.18) for $k=0,1,2, \ldots$ gives

$$
\begin{array}{lll}
Y(0)=c_{0}, & Y(1)=0, & Y(2)=c_{0}, \\
Y(4)=\frac{c_{0}}{2!}, & Y(5)=0, & Y(6)=\frac{c_{0}}{3!}, \ldots
\end{array}
$$

Therefore, the close form solution can be easily in the form written as

$$
y(x)=\sum_{k=0}^{\infty} Y[k] x^{k}=c_{0}\left(1+x^{2}+\frac{1}{2!} x^{4}+\frac{1}{3!} x^{6}+\frac{1}{4!} x^{8} \ldots \ldots .\right)=c_{0} \sum_{k=0}^{\infty} \frac{1}{k!} x^{2 k}
$$

This represents the Taylor series expansion of the exact solution $y(x)=c_{0} e^{x^{2}}$.

## 5. CONCLUSION

In this work, we introduced the concept of differential transform and studied some of their properties. As a contribution, we introduced and proved new formulas for the one-dimensional
differential transform and applied the differential transform method to selected linear ordinary differential equations. This study showed that the differential transform method is powerful and efficient techniques in finding analytical solutions for linear differential equations. It also showed that this technique is capable of reducing the size of calculations comparing with the Taylor series method.

## DISCLAIMER

This manuscript was presented in the International Conference for Mathematics and Applications (ICMA15), 27-29 DEC. 2015, Cairo, Egypt, which organized by the Academy of Scientific Research and Technology. Only the abstract of this manuscript included in the conference proceeding, which is available through the link: http://ncmeg.org/ncm15/logs/agendabook.php?topicid=1\&p aper=oral

## COMPETING INTERESTS

Authors have declared that no competing interests exist.

## REFERENCES

1. Pukhov G. Differential transforms and circuit theory. Circuit Theory and Applications. 1982;10:265-276.
2. Zhou JK. Differential transformation and its applications for electrical circuits. Huarjung University Press, Wuuhahn, China; 1986.
3. Bervillier C. Status of the differential transformation method. Original Research Article Applied Mathematics and Computation. 2012;218(20):10158-10170.
4. Batiha K, Batiha B. A new algorithm for solving linear ordinary differential equations. World Applied Sciences Journal. 2011;15(12):1774-1779.
5. Erturk V. Application of differential transformation method to linear sixth-order boundary value problems. Applied Mathematical Sciences. 2007;1(2):51-58.
6. Hassan I, Erturk V. Solutions of different types of the linear and nonlinear higher-order boundary value problems by differential transformation method. European Journal of Pure and Applied Mathematics. 2009;2(3):426-447.
7. Erturk V. Approximate solutions of a class of nonlinear differential equations by using differential transformation method. International Journal of Pure and Applied Mathematics. 2006;30(3):403-409.
8. Thongmoona M, Pusjuso S. The numerical solutions of differential transform method and the Laplace transform method for a system of differential equations. Nonlinear Analysis: Hybrid Systems. 2010;4:425431.
9. Mirzaee F. Differential transform method for solving linear and nonlinear systems of ordinary differential equations. Applied Mathematical Sciences. 2011;5(70):34653472.
10. Biazar J, Eslami M. Differential transform method for quadratic Riccati differential equation. International Journal of Nonlinear Science. 2010;9(4):444-447.
11. Ali J. One dimensional differential transform method for some higher order boundary value problems in finite domain. Int. J. Contemp. Math. Sciences. 2012; 263-272.
12. Raslan K, Zain F. Abu Sheer. Differential transform method for solving non-linear systems of partial differential equations. International Journal of Physical Sciences. 2013;8(38):1880-1884.
13. Chang S, Chang I. A new algorithm for calculating one-dimensional differential transform of non linear functions. Applied Mathematics and Computation. 2008;195: 799-808.
14. Zill D. A first course in differential equations with applications. Prindle, Weber and Schmidt Publishers; 1982.
15. Apostol T. Mathematical analysis. Addison-Wesley Publishing Company; 1974.
16. S. Ross L. Differential equations. John Wiley \& Sons, Inc.; 1984.
© 2016 Elmabrouk and Abdelwahid; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

[^0]:    *Corresponding author: E-mail: fawziabd@hotmail.com;

